R A L A

Rl

/NMame S

|
LB L

Y

Purposes:
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1 Hooke S Law Quickie Lab (10 pts.)

e e 1 |

.3 Would the shocks on a car have a hlgher sprlng constant or lower?
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g 1. What is the relationship between the Force and amount of stretch?
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SPRING PENDULUM LACS
Hooke, part 2

Procedure: Use small amplitude,
time 10 cycles, 7 trials

Data:
Trial Mass (kg) T (sec) T?(sec?)
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" Calculations: T= 2m/m/k

1. Graph T? versus mass and obtain linear best fit

2. Use slope to calculate k and compare to slop of /,(W = K’ *H’"
first graph (show work directly on graph)
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